Area of a triangle:

A_b-h
2

The base and height are perpendicular (form
right angles)

Area of a rectangle or
parallelogram:

A=b-h

The base and height are perpendicular (form
right angles)

Area of a square:

A=s-sors?

“s” stands for “side”

Area of a trapezoid:
b, +b
g lithd

The bases (b1 & bz) are the parallel sides. The
height is perpendicular to the bases (it forms
right angles with the bases)
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Area of a square:
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“s” stands for “side”
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The bases (b1 & b2) are the parallel sides. The
height is perpendicular to the bases (it forms
right angles with the bases)




